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¢ Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i) All questions in both the sections are compulsory.
(i) Marks for questions are indicated against each question.

(iii) Questions No.1-3 and 15-19 are very short-answer questions carrying 1 mark each.

They are required to be answered in one sentence each.

(iv) Questions No. 4-8 and 20-22 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

(v)  Questions No. 9-10 and 23-25 are also short-answer questions carrying 4 marks

each. Answers to them should normally not exceed 70 words each.

(vi) Questions No. 11-14 and 26-29 are long-answer questions carrying 6 marks each.

Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be

adhered to as far as possible.
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The demand curve of a goods shifts from DD’ to dd'.

Demand (Units)

This shift can be caused by : (Choose the correct alternative)
(a) fall in the price of the goods.

(b) rise 1n the price of the goods.

(¢) rise 1n the price of substitute goods.

(d) rise in the price of complementary goods.

2. UH %] Hl 5 THAT S9 UL FHeT GUI () T 100 € | 6 THAT S I HIAT SvId

38T | 6 THTEAT [T HIFd W Sl STl € ? (Wel {ahed gi0) 1
(a) 28 Wfd e
(b) ¥ 20 ¥id S
(c) R 18 Uid 3hls
(d) T 12 Wi HT2

When 5 units of a goods are sold, total revenue is X 100. When 6 units are sold,
marginal revenue i1s ¥ 8. At what price are 6 units sold ? (Choose the correct

alternative)

(a) < 28 per unit
(b) < 20 per unit
(¢) X 18 per unit
(d) < 12 per unit

3. IE U 3MUH 3UTT GeIeU STk g1 TR TRl & ST i Wicalied L Tl ¢ | 1

Suggest any one economic measure by which the government can promote

consumption of ‘Khadr’.
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4. 1 SHI M B G T GHEST H GEAT HET TSal & 2 HAIT I+ ol HRT
gIT | 3

Do rich countries also face central problems ? Give reasons for your answer.

5.  STH 3R HYAR T 3T 91 & 3! S THTEHT HHT (356) T THTE &l AT HisTT | 3
Explain the effects of floods in Jammu and Kashmir on its production possibilities
frontier.

6. URA WHR T HHAl & [T AT JoI© 1 T Rl € 2 THSE | 3

Why does the government of India fix “support price’ for some crops ? Explain.

7. T UIARTAT & ST 9 Ush B ‘hITd-EeRE el §, “hHa-uR®’ Tl 2 ey | 3
e

STTTYERTT Tl TR-hIHT WA ToRIodT s SAREAT SIS | 3

Why 18 a firm under perfect competition a ‘price-taker’ and not a ‘price-maker’ ?

Explain.
OR

Explain ‘non-price competition’ feature of oligopoly.

. fr=fciiad 4= W&l & T Toid | 379+ 3R o feIT ShRoT ST | 3

(a) T 3] o = B W A I8 = |
(b) T AN o Sig U &l 379a g Sl |

State whether the following statements are true or false. Give reasons for your

answer.
(a) When total product i1s constant average product will fall.

(b) Average cost will rise only when marginal cost rises.
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9. I % HMEA AR AN H [qRIq = (5 DT | SUFMTAT [OFeTH0T 1 STINT HIST | 4

AT

AT hl ShIHd AT I TTTTAT H ot fohwal &1 HILehl Shi AT HifT |

Show that price and demand of a commodity are inversely related ? Use utility

analysis.

OR

Explain any two factors that affect price elasticity of demand.

10. o%] I ‘TSI HAT i GRETST JINT | SHERT W10 H dTel HReb Jdy |

Detine “‘market demand’ for a goods. State the tactors that atfect it.

1. STIR & Tt ol I THSATRT |
reraT
fFrfefad & o ey gl € 2
(a) HHIT T (STTH) 3R A6 GuTa,
(b) T T, 3T1% T T

Explain the conditions of producer’s equilibrium.
OR

What 1s the relationship between :

(a) Marginal revenue and Average revenue

(b) Total revenue and Marginal revenue

12. URadl 3T o HIH i TH 3R 3R el 318 d5hl bl Feraal ¥ AT HiT | 6

Explain the law of variable proportions with the help of marginal product and total

product curves.
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fFTATATET TR ShaeT Reet TaiaTTiera & forT uv= T 12 & TH W & -

UREdT 3TUTAT 61 99 Ueh dTetehl bl Teradl d qHEey |

The following question 1s for the Blind Candidates only in lieu of Q. No. 12.

Explain the law of variable proportions with the help of a schedule.

13. SYHERT e Sl TR ST | SFREN 956 [G¥eidl & = S9ehl Il bl AT
I | 6

Define consumer’s equilibrium. Explain its conditions under indifference curve

analysis.

4. A %] 1 SR Gdei i &&Ad 7 € | SHD! 3TTAl bl B 9 STl & | Th J@Iras Sl
TR ¥ Hqei- i, HET-AET 3R 9id-H1= 08 $Heh THIET ol &7 i AT Fid | 6

The market for commodity A 1s in equilibrium. The price of its inputs rises. Explain

its chain of effects.on equilibrium price, quantity demanded and supplied with the

help of a diagram.

AT T Shaet geet TRiemtaai & forg e T 14 o6 H W

T %] I AFT-STYET HT 37 Faey | o HiFd, AF-A6T R Q-6 0 $96 TEl
I SGAT Tl RAT DT |

The following question is for the Blind Candidates only in lieu of Q. No. 14.

Give the meaning of ‘excess demand’ of a commodity. Explain its chain of effects on

equilibrium price, quantity demanded and quantity supplied.
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Section- B

15. Frtafaa o | & 91 UegeT R Hl STl € 2 (Wel foehed g9iHu) 1
(a) SERA Yoo X G
(b) AT F AW 3T FHT

(c) SERA Yo 3N FaT Y
(d) M FT 3R 3T H

Which one of the following i1s a combination of direct taxes ? (Choose the correct

alternative)

(a) Excise duty and Wealth tax
(b) Service tax and Income tax
(c) Excise duty and Service tax

(d) Wealth tax and Income tax

16. ST il o €2 TSy | 1

State the components«of money supply.

17. FAtREd F9H 9.9 HiF 91 &l € 2 1
(a) o1 AT AR Fol AT T 3T ASTHIUF =T BNl & |
(b) Tl WITAT SR SATS YA I ST WA =T Bl € |
(c) TSTEhRIUIT =TT WA BT 3] ST T 61 AT 8T 8 |

Which of the following statements is true ?
(a) Fiscal defictt 1s the difference between total expenditure and total receipts.
(b) Primary deficit 1s the difference between total receipt and interest payments.

(¢) Fiscal deficit is the sum of primary deficit and interest payment.
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18. TAATEd H | T 1 Jole &l & ? (Wel foehed gi0) 1

(a) Sl
(b) =
(c) TeIe
(d) Tm™=EEe

Which of the following 1s not a flow ? (Choose the correct alternative)
(a) Capatal

(b) Income

(c) Investment

(d) Depreciation

19. Fr=fafad O 9 S 91 T 1 19 76l € 2 (Tl fohed gHu) 1
(a) TaHHT T ATEIH
(b) HiHd RRET

(c) ¥d H9d
(d) oGl e

Which of the following 1s not a function of money ? (Choose the correct alternative)
(a) medium of exchange

(b) pricestability

(c) store‘ofvalue

(d) unit of account

20. AR O =7 T 8T & 2 3
(a) 3T9d U9 g AR AHd 99d Jard
(b) WM ITHIT Vg 3R FoRT o

AT
TR b7 3T TRy :
(a) 3Tk SSTIRY, 37T
(b)  TRIT ST
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What 1s the relationship between :
(1)  Average propensity to consume and average propensity to save.
(1) Marginal propensity to consume and investment multiplier.
OR
Give the meaning of :
(1)  voluntary unemployment, and

(1) nflationary gap

21. TOSST HBT I HAT & foheet a1 |dT 61 SUH iy | 3

Describe any three sources of demand for foreign exchange.

22. FEd=- 100+ 0.2 Y (31) | T€ Ueh 3eTae H 99d Hold € | a9 &3 5,000 € | 379
% Hqet WX T URehet HhisTT | 3

S =—-100+.0.2 Y 1s the saving function in an economy. Investment expenditure 1s

5,000. Calculate the equilibrium level of income.

23.  FHAGIREd 3REl ¥ HRF AT W) Hael Jod Gdls Tl TNhet hisy : 4
(T et W)

i) ol 300
(i)  URW® 6 40)
(i) T&gEe 30
(iv) — HEEdr STHM 120
(v) T 50
(vi) &I | IREdT 20
(vii)  TeleT STTTe] T 15
(viii) Tor=eT =l FRE T 10
58/1/1 9 [P.T.O.

collegedunia:

India’s largest Student Review Platform




From the following data, calculate net value added at factor cost.

(T in crores)

(1) Sales 300
(11) Opening stock 40
(m1)  Depreciation 30
(1v)  Intermediate consumption 120
(V) Exports 50
(vi)  Change 1n stock 20
(vi1)  Net indirect taxes 15
(vii1) Factor income to abroad 10
24, HEEAr g AR AT FEI3 § 9T DI | T 1 TH ITE0T I | 4
G
31 6 Tshid UaTe i AT HIrT |

Distinguish between intermediate goods and tinal goods. Give an example of each.

OR

Explain the ¢ircular flow of income.

25. WA AR GUENH & TH-511 H 9% FiT | 39 9% 1 Te<d GHgel | 4

Distinguish between autonomous and accommodating transactions of balance of

payments account. Explain the significance of this distinction.

6. 3 37T GHT Hl STHHAFATST Sl HH HLH hi STTETIHdl hl AT HiSTT | [hel g Toie™
UM I SANSAT HIT 5Teh §RT I8 TohaT ST TeheT & | 6

Explain the need for reduction in inequalities of income and wealth. Explain any two

budgetary measures by which it can be done.
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28.

29.

58/1/1

$5T 9 o el &1 G AT T GUH HINT | 6
C G
g% 3T H UREaH STeae | T Ui i hd TRfIfad i & 2 SHeey |
Describe any two main functions of a central bank.
OR
How do changes in Bank Rate affect the money supply in an economy ? Explain.
THY HAT S 9T 9fd o SRR 7 &F i Ria T ST aReae eid &, 3! SRS Hitey | 6
Explain the changes that take place when aggregate demand and aggregate supply are
not equal.
(a) LT 3T AR (b) el AT YAST 37T T UNHAT iy - 4,2
(T T2 W)
(i) . TSI A" STHT &9 500
(i) e <91 3Te Ysit amT 100
(iii)  focwT 9 FHaa1 R 30
(iv) % | 9ReEdd 20
v)  Foa Fad 40
(vi) O 3TcTe] Y 50
(vi)) THET 3T 300
(viii) TIHRT 3<TH STHAT =T 200
(ix) 3Tt oIl <l ST 60
(x)  To=ET = Fae ame] sxerol (-) 10
11 [P.T.O.
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Calculate (a) national income and (b) gross national disposable income.

(T in crores)

(1) Private final consumption expenditure 500
(11) Net domestic fixed capital formation 100
(111) Net factor income from abroad 30
(1v) Change 1n stock 20
(V) Net exports 40
(V1) Net indirect taxes 50
(vi1) Mixed income 300
(vii1)  Government final consumption expenditure 200
(1X) Consumption of fixed capital 60
(X) Net current transfers to abroad (=) 10
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